{gt—m

S8MRV

Combine worm geared motor performance
R HLI S5

A 7‘ [T Haitec- GR

Z2NJ

I

8RV/8MRV (n+=1400r/min)

Mz | || Pi(KW) | nz(r/min) Mz | | | Pi(KW) | na(r/min)
73 | 300 | 0.08 4.7 1100| 300 0.9 4.7
65 | 400 | 0.06 3.5 1030| 400 0.7 3.5
61 | 500 | 0.04 2.8 1000 500 0.6 2.8
73 | 600 | 0.04 2.3 1030| 600 0.5 2.3
73 | 750 0.04 1.9 1100| 750 0.4 1.9
73 | 900 | 0.03 1.6 1100( 900 0.4 1.6
8RV030/040( 65 |1200| 0.02 1.2 8RV050/105| 1030/ 1200 0.3 1.2
73 (1500 0.02 0.9 1100( 1500 0.3 0.93
73 (1800 0.02 0.8 1100( 1800 0.2 0.78
65 [2400| 0.01 0.58 1030|2400 0.2 0.58
65 [3200| 0.01 0.4 1000| 3000 0.1 0.47
33 [4000| 0.01 0.4 7804000 0.1 0.35
29 [5000( 0.01 0.28 710 | 5000 0.1 0.28
145|300 | 0.15 4.7 1265| 300 1.1 4.7
124 | 400 0.1 3.5 1185| 400 0.8 8.5
120 | 500 | 0.09 2.8 1100| 500 0.6 2.8
145|600 | 0.08 23 1185| 600 0.6 2.3
145|750 | 0.07 1.9 1265| 750 0.5 1.9
1451 900 | 0.06 1.6 1265| 900 0.4 1.6
8RV030/050| 124 {1200 0.04 1.2 8RV050/110| 1185| 1200 0.3 1.2
14511500 0.04 0.93 1265|1500 0.3 0.93
14511800 0.04 0.78 1265|1800 0.3 0.78
124 12400| 0.03 0.6 1185|2400 0.2 0.58
120 {3000 0.02 0.5 1100( 3000 0.1 0.47
82 (4000 0.02 0.35 819 4000 0.1 0.35
82 (4800 0.02 0.29 746 | 5000 0.1 0.28

29



m X ® .
[IsHaitec-GR gMRY Z 5
I 74N ’
8RV/8MRV (n1=1400r/min)
M2 | |P1(KW)| n2(r/min) M2 | |P1(KW)|n2(r/min)
230| 300 | 0.24 4.7 1760| 300 | 1.5 4.7
230|400 | 0.19 3.5 1650| 400 | 1.1 3.5
216 | 500 | 0.15 2.8 1550| 500 | 0.9 2.8
230|600 | 0.13 2.3 1650 600 | 0.8 2.3
216 | 750 | 0.11 1.9 1760| 750 | 0.7 1.9
198 | 900 | 0.09 1.6 1760| 900 | 0.6 1.6
8RV030/063| 230 [1200| 0.08 1.2 8RV063/130|1650( 1200/ 0.4 1.2
216 |11500| 0.06 | 0.93 1760|1500| 0.4 0.93
198 11800| 0.05| 0.78 1760|1800 0.3 0.78
230|2400| 0.05| 0.58 1650|2400| 0.3 0.58
216 |3000| 0.04 | 0.47 1550|3000 0.2 0.47
17214000, 0.03 | 0.35 1220|4000 0.1 0.35
150 |15000| 0.02 | 0.28 1100|5000| 0.1 0.28
390 | 300| 0.36 4.7 2340( 150 | 3.4 9.3
360 | 400 | 0.27 3.5 2340| 200 | 2.7 T
320 | 500 | 0.21 2.8 2050( 250 | 1.9 5.6
390 | 600 | 0.19 2.3 2340| 300 | 1.9 4.7
390 | 750 | 0.16 1.9 2670( 400 | 1.8 3.5
390 | 900 | 0.14 1.6 2330| 500 | 1.4 2.8
8RV040/075| 390 |1200| 0.11 1.2 2670| 600 | 1.3 2.3
390 | 1500f 0.1 0.93 8RV063/150|2330| 750 | 1.0 1.9
390 |1800f 0.09 | 0.78 2100{ 900 | 0.7 1.6
360 |2400| 0.07 | 0.58 2670{1200, 0.7 1.2
320 |3000f 0.05 | 0.47 2100{1800, 0.4 0.8
250 (4000{ 0.04 | 0.35 2670|2400| 0.5 0.6
2301|5000/ 0.03 | 0.28 2330|3000| 0.3 0.5
1880|4000| 0.2 0.4
610| 300 | 0.6 4.7 1650/5000| 0.2 0.3
610|400 | 0.4 3.5
560 | 500 | 0.3 2.8
610 | 600 | 0.3 2.3
560 | 750 | 0.2 1.9
505|900 | 0.2 1.6
8RV040/090 6101200 0.2 1.2
560 |1500| 0.1 0.93
505 ({1800 0.1 0.78
6101|2400 0.1 0.58
560 | 3000 0.1 0.47
460 (4000| 0.1 0.35
410 |5000| 0.1 0.28

30



e W 2%

SMRV - oY rl \XIHa|teC GR

nNJ — E—

Combine worm geared motor size

AL R F

-
J

T — 1
<k
— =0
| |
|
|
.
N,
O/%\\ (‘ .
=7 K¢
g
R1 H1

S
-
i
o
ﬁ,ig
> (0]

8MRV+8MRV

B G2

i

\
|
to
c-
d(6) 2
e,

N
N
)

(o1

\
F
K 8RV+8MRV
L

31



[T 7 Haitec-GR SMRV

2T
| I“’:

8MRV Dimensions

8M+RV A | B |C1DH8)d({6)| E | F|G |Gl | G2| H |[Hi[ I |1H]I2| L | M [NH8)N1
025-030| 54 | — |70| 14 | - | 97 |32 (45|63 | - | 40 |35| - |25|30|56 |65| 55 |58
025-040| 70 | — | 70| 18 | - [121.5/43 |45|78 | - | 50 | 35| - |25|40|71 | 75| 60 |73
030-040| 70 | 20 | 80| 18 9 |121.5/43 |55 78 51 50 | 40|10 30(40| 71 | 75| 60 |73
030-050| 80 | 20 | 80| 25 9 144 | 49 | 55| 92 51 60 |40|20|30|50| 85 |85| 70 |87
030-063|100| 20 | 80| 25 9 174 | 67 |55 | 112 51 72 | 40(33|30|63({103| 95| 80 |106
040-075|120| 23 |100| 28 11 205 | 72 |70 120 60 86 | 50|35|40(75|112|115] 95 114
040-090(140| 23 [100| 35 | 11 | 238 |74 [ 70140 | 60 | 103 | 50|50 | 40|90 (130|130 110|134
050-105|170| 30 [120| 42 14 | 295 | — [ 80155 74 |(127.5| 60|60 | 50 (110{144|165| 130 (148
050-110|170| 30 (120 42 | 14 | 295 | - |80 |155 | 74 |127.5| 60|60 | 50 110,144 |165| 130 (148
063-130(200| 40 (144 45 | 19 | 335 | — [95|170 | 90 |147.5| 72|67 | 63[130[155|215| 180 162
063-150|240| 40 |144| 50 19 | 400 | — | 95200 90 170 | 72|87 | 63 |150/185|215| 180 {192
8MRV Dimensions

8M+RVN20PQRR1SVZZ1K KE | a|b|t]|bo|lto] f
025-030(|22.5/ 6.5| 75| 44 57 48 | 5.5| 27| 100 | 40 44 Méx11| 0°| 5 (163 — | — =
025-040(22.5/ 6.5| 87| 55 | 71.5| 48 |6.5/35| 115| 50 | 60 | M6x8 |45°| 6 (208 - | - | -
030-040| 29 | 6.5| 87| 55 | 71.5| 57 |6.5| 35| 122 | 50 60 M6x8 |45° 6 (208 3 |10.2| —
030-050| 29 | 8.5(100] 64 | 84 | 57 | 7 | 40| 132| 60 | 70 | M8x10 |45°| 8 [283 3 [10.2] -
030-063| 29 | 8.5(110| 80 | 102| 57 | 8 | 50| 145| 72 | 85 | M8x14 |45°| 8 283 3 [10.2| -
040-075(36.5(11.5{140] 93 | 119 | 71.5| 10 | 60(167.5] 86 | 90 | M8x14 |45°| 8 (313 4 [12.5) -
040-090(36.5| 13 |160] 102| 135| 71.5| 11| 70(184.5 103 | 100 |M10x18(45° 10 |383 4 (12.5) —
050-105(43.5| 14 |200| 125 (167.5 84 [14.5 85| 226 |127.5| 115 |[M10x18|45°( 12 453 5 | 16 | M6
050-110|43.5| 14 |200| 125|167.5 84 |14.5 85| 226 |{127.5| 115 |M10x18({45°| 12 |453 5 | 16 | M6
063-130| 53 | 16 |250| 140 |187.5 102 |15.5100| 245 |147.5| 120 | M12x21|45°| 14 [488 6 |21.5| M6
063-150| 53 | 18 |250| 180 | 230 | 102 | 18 [120| 275 | 170 | 145 | M12x21|45°| 14 538/ 6 [21.5| M6

32



®

> Haitec-GR

[\!I

L

T PV eoe N

8MRV %%

A i AL % e T

Combine mounting positions with motor

HAL

33



